INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.

—

@73 ) Fiber Runner
. OPTICAL CABLE TRAY

www.fayser.com.ar - (+54 11) 6091-6186




INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.

Fiber Runner
OPTICAL CABLE TRAY

Brief Introduction:

® Optical cable tray is a system designed to protect
and route fiber optic patch cords, cable assemblies
to and from network cabinets, ODF and other
terminal devices.

® Optical cable tray offers ideal solutions for optical
raceway requirements and application with
pleasing appearance and easy maintenance.

® Flame-retardant materials rated VO.

® Tool-less products boast easy and quick installation
including snap-on cover, hinged cover option as
well as quick exits.

® Materials:
— Straight Sections: PVC
— Other Plastic Parts: ABS

@® Sizes from 2"x2"to4"x 12"

@® Capacity

Specifications
3 2"X2"system | 4”X4"system | 4"X6"system 4"X10"system 4"X12"system
o,

Pemulated & 2.0mm | 3.0mm | 2.0mm | 3.0mm| 2.0mm | 3.0mm | 2.0mm | 3.0mm | 2.0mm | 3.0mm
5cm 408 176 816 352 1224 528 2040 880 2448 1056
7.5cm - - 1224 528 1836 792 3060 1320 3672 1584
11cm - - 1632 704 2448 1056 4080 1760 4896 2112

02 AY.SER
NYIER www.fayser.com.ar - (+54 11) 6091-6186



F—r INNOVACION Y TECNOLOGIA
Ay ER Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

opTicAL cABLE TRAY Fiber Runner

Color options

> Yellow
» I Orange

® Sizes

» 2" (2"%2" 50mm x 50mMm) -------- oo 04
» 4" (4"x4" 100mm x 100mMm)  ------- - - oo 06
» 6" (4"x6" 100mm x 150mm) ------------m oo 09
» 10" (4"x10" 100mm x 250mMm) -------------mmm oo 11
» 12" (4" x12" 100mm x 300mMm) ----------mmmm oo 13
e Hybrid Connector / Adapters -------------ommmmi 17
e Exit Drop Options

» 2" Quick Exit with Flex Tube / Trumpet Flare Drop 1 ---------------------. 19
» 2" Quick Exit with Flex Tube / Trumpet Flare Drop 2 ---------------------. 20
» 2" Fixed Exit with Flex Tube / Trumpet Flare Drop =~ --------coomeeeo . 21
» 4" Quick Exit with Flex Tube / Trumpet Flare Drop 1 ---------------------- 22
» 4" Quick Exit with Flex Tube / Trumpet Flare Drop 2 = ---------------------- 24
» 4" Fixed Exit with Flex Tube / Trumpet Flare Drop =~ ---------------------- 26
» Downspout with Trumpet Flare / Trumpet Flare Drop  -------------------- 27
e Installation / Supporting Systems

» Anchor Support ---------- o 29
> Trapeze SUPPOrt -------mmmm oo 30
» Top of Rack / Cabinet Support -------ooomm 30
» Auxiliary Framing support - - - oo oo 31
» Wall Support ---------om e 31

03
FAYSER www.fayser.com.ar - (+54 11) 6091-6186



NYDER

[ | Optical Cable Tray
2"

Straight Section
Cod: FR-A101-FO

Remarks: 2 meter/piece *

End Cap
Cod: FR-A114-FO

=

INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

2" (2"x2" 50mmx50mm)

Straight Section Cover
Cod: FR-A102-FO

Remarks: 2 meter/piece *

Connector
Cod: FR-A108-FO

Remarks: Metal,
used for straight section.

90° Horizontal Elbow
Cod: FR-A104-FO

53.6

90° Horizontal Elbow Cover
Cod: FR-A105-FO

Horizontal T
Cod: FR-A106-FO

Horizontal T Cover

Cod: FR-A107-FO

1238

* Other length is available upon request.

04

AYSER

www.fayser.com.ar - (+54 11) 6091-6186

1238




2"

AYSER

[ | Optical Cable Tray

120

INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

2" (2"x2" 50mmx50mm)

90° Up Elbow Cover

90° Up Elbow

Cod: FR-A115-FO

120

120

Cod: FR-A116-FO

90° Down Elbow

90° Down Elbow Cover

Cod: FR-A117-FO

120

Cod: FR-A118-FO

* Other length is available upon request.

AYSER

www.fayser.com.ar - (+54 11) 6091-6186

1238

1238

77.2

05



NYDER

4"

Straight Section
Cod: FR-A203-FO

Remarks: 2 meter/piece *

End Cap
Cod: FR-A214-FO

Remarks: Metal,
used for straight section.

Connector Kit A
Cod: FR-T2041-FO

Remarks: used for straight section

90° Horizontal Elbow
Cod: FR-A211-FO

3

¥

Storage Tray
Cod: FR-T231-FO

Optical Cable Tray

INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

4" (4"x4" 100mmx100mm)

@ A204 4" Connector
@ A301 Fixing Knob 8

®A321 Bolt

205.6
1308

N A . 7,
1068 Straight Section Cover Kit *ﬁ*
“—‘ Cod: FR-T202-FO 7~
© 4
- B
= |
P
N EFTE :
?:J 108
@ A202 4"Straight Section 2 meter *
-,‘\\_-‘_.'\,;,} @ A303 Hinge 5 pes
\r" g ® A301 Fixing knob 5 pcs
o * 3] @ A321 Bolt 5 pcs
Connector End Cap
Cod: FR-A216-FO
1153
1072 38
|
| o
I ]
| =
I
(LT L]
iy
P oy : 716
idV

Remarks: Metal,
used for connector.

Connector Kit B
Cod: FR-T2042-FO

@ A204 4" Connector
. @ A301 Fixing knob
6 ®A321 Bolt

@ GB5780-86 M6*25 Hexagonal Bolt 4
(® GB79-85M6*14 Inner Hexagon Screw 4

Remarks: used

8 for other parts = "

except straight section ® A201 4" Pull Rod 1
90° Horizontal Elbow Cover
Cod: FR-A212-FO
1969
1134 172

196.9
|
W

1134

Storage Tray Cover
Cod: FR-A232-FO

* Other length is available upon request.

06

AYSER

www.fayser.com.ar - (+54 11) 6091-6186



NYDER

[ | Optical Cable Tray

4"

Horizontal T
Cod: FR-A205-FO

45° Down Elbow
Cod: FR-A208-FO

% - ,l;‘ AT

-

45° Up Elbow
Cod: FR-A207-FO

90° Down Elbow
Cod: FR-A209-FO

Horizontal Cross
Cod: FR-A235-FO

5 lu

AYSER

INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

4" (4"x4" 100mmx100mm)

Horizontal T Cover
Cod: FR-A206-FO

2804
1308

‘ 1134 ‘
D JTL
w. = — 3 S o
S < 3 2
3 > 2| o~
b=
o s
3 2804
45° Down Elbow Cover Kit o
. i
Cod: FR-T220-FO W
©
g = %9
) R B | —
P j o
0 ~| 8
T s -
; oy 200
o | 4 @ A220 4" 45° Down Elbow Cover 1
© i)
e' @ A215 Fixing unit 4
. ® GB818-85 M4*10 Cross Recessed
Remarks: Metal material. Pan Head Screw
45° Up Elbow Cover Kit
Cod: FR-T219-FO
135,
Expand Size
g i
= g8 @
\ —*H
o i 120
P
2] d @ A219 4" 45° Up Elbow Cover 1
[2) @ A215  Fixing unit 2
. . (® GB818-85 M4*10 Cross Recessed
Remarks: Metal material. Pan Head Screw 2
90° Down Elbow Cover Kit Expand Size
Cod: FR-T221-FO
187.7 106.8 — 5
© & Beme © o
N (1) " — = S
&

P
ld 107.5

T - s
© wd 2

@ A221 4" 90° Down Elbow Cover 1
@ A215 Fixing unit 4
Remarks: Metal material. (3 GB818-85 M4*10 Cross Recessed
Pan Head Screw 4
Horizontal Cross Cover
J e Cod: FR-A236-FO 1134
= [

106.8+0.1

e

_—

1134

2804
i172

2804

www.fayser.com.ar - (+54 11) 6091-6186

07



F—r INNOVACION Y TECNOLOGIA
Ay ER Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

B OpicalCabie Ty
4" o

Vertical T Cover
Cod: FR-A242-FO

Vertical T
Cod: FR-A241-FO

=

[

|

IR1, 03

IAYJER www.fayser.com.ar - (+54 11) 6091-6186



INNOVACION Y TECNOLOGIA

Ay ER Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

[ | Optical Cable Tray 6" (4"x6" 100mmx150mm)
6"
Straight Section Straight Section Cover Kit
Cod: FR-A319-FO 1576 Cod: FR-T302-FO 17.2
[y
L.
© ©
1R S
:’ |
I
@ A302 6'Straight Section Cover 2 meter *
.y @ A303 Hinge 5 pcs
>y ® A301 Fixing knob 5 pcs
Remarks: 2 meter/piece * ® A32L Bolt 3 pes
End Cap Connector End Cap
Cod: FR-A322-FO Cod: FR-A325-FO
13 158 . 1338 y 158 3 38
- ] 4 E
‘ - E ‘ ” ;
" YR @ ) 1284
Remarks: Metal, . Remarks: Metal,
used for straight section. used for connector.
Connector Kit A 2034 Connector Kit B 2034
Cod: FR-T3161-FO 1436 8 Cod: FR-T3162 1436

1316

=h
' )
N @ A316 6" Connector 1
' & ‘ ; @ A301 Fixing Knob 8
? & @ A316 6" Connector 1 5 X . @ ® A321 Bolt 4
e @A301 Fixing Knob 8 6 [ ~.  @GB5780-86 M6*25 Hexagonal Bolt 4
®A321 Bolt 8 Remarks: used for other parts "~ (®GB79-85M6*14 Inner Hexagon Screw 4
Remarks: used for straight section except straight section. ® A304 6" Pull Rod 1
90° Horizontal Elbow 90° Horizontal Elbow Cover
Cod: FR-A315-FO Cod: FR-A318-FO 2437

164.2 172

~
= 2~
8| e N
& g g
#
i e
Horizontal T Horizontal T Cover
Cod: FR-A317-FO Cod: FR-A314-FO -
1816 ‘ ‘
T ST
. B g B
B B - o

3312

* Other length is available upon request.

IAYJER www.fayser.com.ar - (+54 11) 6091-6186

09



INNOVACION Y TECNOLOGIA

Ay ER Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.

6" (4"x6" 100mmx150mm)

[ | Optical Cable Tray
6 n
Horizontal Cross Horizontal Cross Cover
Cod: FR-A327-FO Cod: FR-A328-FO 1642
——

164.2
3312

UL

3312
|
i

181.6
3312

45° Down Elbow 45° Down Elbow Cover Kit T
Cod: FR-A306-FO 157 Cod: FR-T335-FO !
Expand Size
gT

= [ p— T
] |
4 slg |
N ;
|

200

: o
@ A335 6" 45° Down Elbow Cover 1
© i) y M @ A215  Fixing unit 4
RemanksdMetallmaterial 9 (® GB818-85 M4*10Cross Recessed
Pan Head Screw
45° Up Elbow 45° Up Elbow Cover Kit Py
Cod: FR-A307-FO Cod: FR-T334-FO |
Expand Size
P | | S
L
120
b 1) p -
@ A334 6" 45° Up Elbow Cover 1
© ~ ? F @ A215 Fixing unit 2
9 ® GB818-85 M4*10 Cross Recessed

Pan Head Screw

Remarks: Metal material.

90° Down Elbow 90° Down Elbow Cover Kit 20
Cod: FR-A305-FO Cod: FR-T336-FO r_jl‘is
157 J

316

o .
(3] d y y @ A336 6" 90° Down Elbow Cover 1
e' @ A215 Fixing unit 4
. *
Remarks: Metal material (3 GB818-85 M4*10 Cross Recessed
Pan Head Screw 4

Storage Tray Storage Tray Cover
Cod: FR-T347-FO 562 Cod: FR-A349-FO

S

336.6
348.6

164.2 ‘

10 AV.SER
NYIER www.fayser.com.ar - (+54 11) 6091-6186



NYDER

[ | Optical Cable Tray

10"

Straight Section
Cod: FR-A501-FO

Remarks: 2 meter/piece *

Connector Kit A
Cod: FR-T5021-FO

B %

Remarks: used for straight section

90° Horizontal Elbow
Cod: FR-A513-FO

Horizontal T
Cod: FR-A504-FO

Horizontal Cross
Cod: FR-A503-FO

INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

" (4"x10" 100mmx250mm)

Straight Section Cover
250.2 Cod: FR-A510-FO

Remarks: 40 cm/pc, Snap-on Cover.

Connector Kit B
Cod: FR-T5022-FO

1 4. 580
N 1 e
=y
o - ©
@A502 10" Connector 1 e 0 o
@ A301 Fixing knob 10
®A321 Bolt 10 Remarks: used for other parts

except straight section

90° Horizontal Elbow Cover
Cod: FR-A512-FO

354
280

Horizontal T Cover
Cod: FR-A507-FO

280.2

Horizontal Cross Cover
Cod: FR-A506-FO

* Other length is available upon request.

AYSER

www.fayser.com.ar - (+54 11) 6091-6186

@ A502 10" Connector 1
@ A301 Fixing knob 12
® A321 Bolt 6

@ GB5780-86 M6*25 Hexagonal Bolt 6
® GB79-85M6*14 Inner Hexagon Screw 6

® A514 10" Pull Rod 1

i\i
|
T |
I
‘ 262.8
346.3

|
26238 172

2628

11



‘—r INNOVACION Y TECNOLOGIA
Ay ER Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.

. Optical Cable Tray 10" (4"x10" 100mmx250mm)

10"

Connector End Cap
Cod: FR-A529-FO 13 250.5 13 38

F

End Cap
Cod: FR-A522-FO 58 250.5 58

115.8

115.8
=

Remarks: Metal,

Remarks: Metal,
used for connector.

used for straight section.

12 AV.SER
NYIER www.fayser.com.ar - (+54 11) 6091-6186



INNOVACION Y TECNOLOGIA

Ay ER Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.

[ | Optical Cable Tray 12" (4" 100mmx300mm)

"
1 2 Straight Section Straight Section Cover
Cod: FR-A403-FO Cod: FR-A422-FO

310+01

316.6

1136

Remarks: 2 meter/piece * Remarks: 40 cm/pc, Snap-on Cover

Connector Kit B — 3

Connector Kit A 356 80
Cod: FR-T4282-FO

Cod: FR-T4281-FO

1316

Lok
Py ‘(\'\:{'&e

P T&
©

eo : @ A428 12" Connector 1
i : o @ A301 Fixing knob 12
@ A428 12" Connector 1 @ ® A321 Bolt 6
@ A301 Fixing knob 10 @ GB5780-86 M6*25 Hexagonal Bolt 6
Remarks: used for straight section @A32L ot 10 Remarks: used for other parts © GB79-85M6”L4 Inner Hexagon Screw 6
) 9 except straight section ® A401 12" Pull Rod 1

Connector End Cap
Cod: FR-A434-FO

E 3105 Hy 38, 5 3105 W* 38

End Cap
Cod: FR-A431-FO

Remarks: Metal,

Remarks: Metal,
used for connector.

used for straight section.

90° Horizontal Elbow Cover

90° Horizontal Elbow
Cod: FR-A425-FO

Cod: FR-A429-FO

408.8

Horizontal T Cover

Horizontal T
Cod: FR-A418-FO

Cod: FR-A417-FO

483 .
: l
. | - 77‘777 Sl el o«
. gl e
= I R I - | =& g
. | < | |t g
' A L[] il
¥ ! ‘ 3166 ‘ 17
al 334 483 46

* Other length is available upon request.

FAYSER www.fayser.com.ar - (+54 11) 6091-6186



INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

100mmx300mm)

[ | Optical Cable Tray

Horizontal Cross Cover

12"
Horizontal Cross
Cod: FR-A407-FO X Cod: FR-A420-FO

17

45° Horizontal Elbow Cover

45° Horizontal Elbow
Cod: FR-A426-FO

Cod: FR-A427-FO

45° Down Elbow 45° Down Elbow Cover Kit
Cod: FR-A405-FO . Cod: FR-A438-FO | 3104
310 ﬁ
o e =] S R—
E §L . ‘\ il
B = =4 352
o

e y B @ A438 12" 45° Down Elbow Cover 1
M © ) @ A215  Fixing unit 4
(® GB818-85 M4*10 Cross Recessed
Pan Head Screw

Remarks: Metal material. 4

45° Up Elbow Cover Kit
Cod: FR-T437-FO 3104
I ]

4 © ﬂ @ A437 12" 45° Up Elbow Cover
@ A215 Fixing unit 2
® GB818-85 M4*10 Cross Recessed

Pan Head Screw

45° Up Elbow
Cod: FR-A406-FO

Remarks: Metal material.

90° Down Elbow Cover Kit
Cod: FR-T439-FO 3104

90° Down Elbow
Cod: FR-A404-FO

108.6

187.7

316
I |

3504

© usl @ A439 12" 90° Down Elbow Cover 1
@ A215 Fixing unit 4
Remarks: Metal material. (3 GB818-85 M4*10 Cross Recessed

Pan Head Screw

14 AV.SER
NYIER www.fayser.com.ar - (+54 11) 6091-6186



Optical Cable Tray

INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

Installation Guide

Straight Section Cover Installation -- 4" & 6"

@
O®G
|
|
= @ | Bl
97.6
Straight Section Cover Kit
Item P/N Part Quantity Item P/N Part Quantity
@ 4" Straight Section [©) 6" Straight Section
2 @ 2 meter 6 @ 2 meter
Cod: FR-T2002-FO ® 4" Straight Section Cover Kit 5 pes Cod: FR-T302-FO @ 6" Straight Section Cover Kit Spes
@ 5 pcs : @ 5 pcs
® 5 pcs ® 5 pcs
Connector Installation
Connector Kit A For Straight Sections
Item P/N Part Quantity Item P/N Part Quantity
4 € L o & 1
(@) 4" Connector Kit A 8 @) 6" Connector Kit A 8
Cod: FR-T2041-FO @ 8 Cod: FR-T3161-FO @ 8
. ® 1 o ® 1
Cod: FR-T5021-FO @ 10" Connector Kit A 10 s 1O @ 12" Connector Kit A 10
® 10 ® 10
Connector Kit B For Other Parts
Item P/N Part Quantity Item P/N Part Quantity
©) 1 @ 1
@ 8 @) 8
4" ® 4" Connector Kit B 4 6" ® 6" Connector Kit B 4
Cod: FR-T2042-FO @ 4 Cod: FR-T3162-FO @ 4
® 4 ® 4
@ 1 ©) 1
@ @
10" ® . . 162 12 ® : i 162
Cod: FR-T5022-FO 10" Connector Kit B O R D 12" Connector Kit B
@ 6 ® 6
® ® 6

AYSER

www.fayser.com.ar - (+54 11) 6091-6186

15



INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.

B OvicalCable Tray

45° Climbing Installation (4")

T220 A208

& ] | P
2042 3 ®
I
| 68(18'
286.7(11.3") 40 152.6(6")
366.7(14.4")
3
e
= = X
A N R 1 1a 2
L a g
s &
T 2 % 2
I\
AN
90° Climbing Installation (4")
A209
©) ©)
5 T221
12042 — P4
© =
Al i@
= g
A207
T219
©)
X6
9 ©} |1 f©
EEe— 12042
hid hid
[
o |
3436 (13.5") 40
4236 (167")
s R ap—-
- L ' [ = E3
ﬁ —
Qs
& T

16
FAYSER www.fayser.com.ar - (+54 11) 6091-6186



INNOVACION Y TECNOLOGIA

Ay ER Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.
. Optical Cable Tray Hybrid Connector / Adapters

6" to 4" Horizontal T Cover
Cod: FR-A313-FO

6" to 4" Horizontal T
Cod: FR-A320-FO

5 &
164.2
2479
259.9

280.4

- @

6" to 4" Horizontal Cross Cover

6" to 4" Horizontal Cross
Cod: FR-A329-FO

Cod: FR-A326-FO

j

1816
3312

‘ 164.2
3312

e
6" to 4" Adapter 6" to 4" Adapter Cover
Cod: FR-A350-FO Cod: FR-A351-FO
17.2
o
g 3 SR
£ I

180.0

10" to 6" Adapter Cover

10" to 6"Adapter
Cod: FR-A509-FO

Cod: FR-A505-FO

1642
\
[
\
\
|
2628
|

\
2562

180 46

‘_S_ 17
NYIER www.fayser.com.ar - (+54 11) 6091-6186



INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

NYDER

para Atender sus Necesidades.

[ | Optical Cable Tray
2" Quick Exit with Flex Tube Drop 1

| OO @06

i o @
= T= B

i SE ®0®
" ® ﬁ 51(2")
244.5(9.6") 46.801.8 171:8(6.8")
129.2(5")
263.2(10.4")
= |

\

|

|
L
o
200(7.9")

Exit Kit for 4" Tray Cod: FR-T3091-FO Exit Kit for 6" Tray Cod: FR-T3092-FO

Item P/N Part Quantity Item P/N Part Quantity
@ 4” Straight Section N/A @ 6" Straight Section N/A
@ 2° Quick Exit 1 @ 2" Quick Exit 1
® 2" Quick Exit Cover 1 ® 2" Quick Exit Cover 1
E @ 2 Quick Exit End Cover 1 o @ 2” Quick Exit End Cover 1
3 ® 4" Supporting Bracket 1 ; ® 6" Supporting Bracket 1
g ® Splat 1 'g ® Splat 1
f @ Fiber Exit Connector 1 .3 @ Fiber Exit Connector 1
° R T 2 |8 e 2
O] Fixing Knob 4 ® Fixing Knob 4
(©) Bolt 4 ® Bolt 4

2" Quick Exit with Trumpet Flare Drop 1

@06
] i ] Q@
! | g
SHSJERE-EER S
= It |
®o I SR EENN ®0
2 S
T ®
| 46.8(1.8")
244.5(9.6") 100.3(4”) | 5127)
129.2(5"
t 263.7(10.4")
|
BN
I
54.8(2.2")
122.8(4.8")
200(7.9")

Exit Kit for 4" Tray Cod: FR-T3093-FO Exit Kit for 6" Tray Cod: FR-T3094-FO

Item P/N Part Quantity Item P/N Part Quantity
@ 4" Straight Section N/A @ 6" Straight Section N/A
(@) 2" Quick Exit 1 (@) 2" Quick Exit 1
[©) 2” Quick Exit Cover 1 ® 2" Quick Exit Cover 1

2 @ 2” Quick Exit End Cover 1 g_ @ 2” Quick Exit End Cover 1

x| ® 4” Supporting Bracket 1 3 ® 6" Supporting Bracket 1

g ® 2” Connector 1 g ® 2" Connector 1

E @ Trumpet Flare 1 E @ Trumpet Flare 1
Fixing Knob 4 Fixing Knob 4
©] Bolt 4 ® Bolt 4

AYSER

www.fayser.com.ar - (+54 11) 6091-6186

Flex Tube (diameter: 80mm)
Cod: FR-C80-FO

35mm

Flex Tube (diameter: 35mm)

Cod: FR-C35-FO

19



INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.

NYDER

. Optical Cable Tray Hybrid Connector / Adapters

12" to 6" Adapter Cover
Cod: FR-A403-FO

12" to 6" Adapter
Cod: FR-A409-FO

164.2
——
316.6

12" to Dual 6" Adapter Cover

12" to Dual 6" Adapter
Cod: FR-A423-FO

Cod: FR-A411-FO

316.6

12" to 6" Horizontal T Cover
Cod: FR-A419-FO

12" to 6" Horizontal T
Cod: FR-A408-FO

3306

316.6
399.8

12"to 6"Horizontal Cross Cover

12" to 6" Horizontal Cross
Cod: FR-A421-FO

Cod: FR-A410-FO

4118

17

12" to 10" Connector Kit
Cod: FR-T445-FO

@ A445 12" to 10" Connector
@ A301 Fixing knob
(3 A321 Bolt 8

18 AV.SER
NYIER www.fayser.com.ar - (+54 11) 6091-6186




INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

Exit Drop Options

2" Quick Exit with Flex Tube Drop 2

180.47(8.4°)
126.5(5')
114.5(4.57)

i
2445096

46.8(1.87)

129.2(5")

Exit Kit for 6" Tray Cod: FR-T2342-FO

Exit Kit for 4" Tray cosrrrasarso

Item P/N Part Quantity Item P/N Part Quantity
[©) 4" Straight Section N/A [©) 6” Straight Section N/A
@ 2" Quick Exit 1 @ 2" Quick Exit 1
® 2" Quick Exit Cover 1 ® 2" Quick Exit Cover 1
2 @ 2" Quick Exit End Cover 1 o @ 2" Quick Exit End Cover 1
3 ® Splat 1 i ® Splat 1
3 3
E ® Fiber Exit Connector 1 2 ® Fiber Exit Connector 1
b
g @ M3*8Cross Recessed Pan Head Screw 2 [ @ M3*8Cross Recessed Pan Head Screw 2
o
Fixing Knob 2 ° Fixing Knob 2
® Bolt 2 ©) Bolt 2
" Q Q Q
2" Quick Exit with Trumpet Flare Drop 2
I'f — ¥ q{
I W
e 3 .
@@ | — | BT
./ 1 |
) 46.8(1.87) | |
L _250(9.67) 100.3(47) | |
L120.2(5) | )
= 260(10.47) y
4
-
£
122838
. - n . . n
Exit Kit for 4 Tray Cod: FR-T2343-FO Exit Kit for 6 Tray Cod: FR-T2344-FO
Item P/N Part Quantity Item P/N Part Quantity
[©) 4” Straight Section N/A [©) 6 Straight Section N/A
@ 2" Quick Exit 1 [©) 2" Quick Exit 1
® 2" Quick Exit Cover 1 [©) 2” Quick Exit Cover 1
o o
2 @ 2” Quick Exit End Cover 1 2 @ 2” Quick Exit End Cover 1
E ® 2” Connector 1 ;;. ® 2” Connector 1
§ ® Trumpet Flare 1 § ® Trumpet Flare 1
w »
'6 @ Fixing Knob 2 '8 @ Fixing Knob 2
Bolt 2 Bolt 2

20




NYDER

[ | Optical Cable Tray

2"

__/

para Atender sus Necesidades.

®0® DO® @

Exit Drop Opti

= | =

126.5(5")
114.5(4.5")

46.8(1.8")

129.2(5")

1

80(7")

254(10")

126(5")
200(7.9")

Exit Kit for 4" Tray Cod: FR-T1111-FO

INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

2" Fixed Exit with Flex Tube Drop (required to remove sidewall)

Exit Kit for 6" Tray Cod: FR-T1112-FO

Item P/N Part Quantity Item P/N Part Quantity
@ 4" Straight Section N/A @ 6" Straight Section N/A
@ 2" Fixed Exit 1 @ 2" Fixed Exit 1
® 2” Fixed Exit Cover 1 ® 2” Fixed Exit Cover 1
g @ 2" Tray Fiber Runner 1 ol @ 2” Tray Fiber Runner 1
o
3 ® Splat 1 3 ® Splat 1
3 ® Flex tube attachment 1 5' ® Flex tube attachment 1
I @ Fixing Knob 2 » @ Fixing Knob 2
3 T
Bolt 2 °© Bolt 2
® Hinge ® Hinge
4" Straight Section Cover 6" Straight Section Cover
n . M . . .
2" Fixed Exit With Trumpet Flare Drop (required to remove sidewall)
@®
060 ©® @ @0
# 2
. 5|02 En|
j =Ly =
- 3|
RN
i ©®
[ ; 46.8(1.8") )
122(4.8” “ 129.2(5") | 50(2")
180(7")
254(10")
200(7.9”
M M n M M n
Exit Kit for 4" Tray codrrei113-f0 Exit Kit for 6" Tray cos mriiaro
Item P/N Part Quantity Item P/N Part Quantity
[©) 4 Straight Section N/A [©) 6" Straight section N/A
(@) 2" Fixed Exit 1 (@) 2” Fixed Exit 1
- [©) 2" Fixed Exit Cover 1 " [©) 2” Fixed Exit Cover 1
g @ 2” Tray Fiber Runner 1 g @ 2” Tray Fiber Runner 1
n -
3 ® 2" Connector 1 f ® 2" Connector 1
3 ® Trumpet Flare 1 E ® Trumpet Flare 1
3 @ Fixing Knob 2 3 @ Fixing Knob 2
Bolt 2 Bolt 2
® Hinge N/A ® Hinge N/A
4” Straight Section Cover N/A () 6" Straight Section Cover N/A

AYSER

www.fayser.com.ar - (+54 11) 6091-6186

21



INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.

. Optical Cable Tray Exit Drop Options

4" Quick Exit with Flex Tube Drop 1

22

® . (ONNNO)
I o [ {
| i i I
|2 v
R . -~
! S ;) P/N: T413 __ )
X o
o] M
304.4(12") o7 6(3.8" . | {
‘ 1807") 1: 2 Holes (35 mm each) | |
\ 2: 3 Holes (35 mm each) ~..='®
\ 3: 1 Holes (80 mm each) s
‘ T
} 1: for 6" Tray s [O)
| 2: for 10" Tray
w 3: for 12" Tray
106.4(4.2")
25440100 | 4: for 4" Tray
Exit Kit for 4" Tray Cod: FR-T413-FO Exit Kit for 6" Tray Cod: FR-T413-FO
Item P/N Part Quantity Item P/N Part Quantity
@ 4” Straight Section N/A @ 6" Straight Section N/A
@ 4" Quick Exit 1 @ 4” Quick Exit 1
® 4" Quick Exit Cover 1 ©)] 4" Quick Exit Cover 1
@ 4" to 4" Exit Cover 1 ® 4" Quick Exit End Cover 1
[a) [a)
2 ® 4" Supporting Bracket 1 g ® 6 Supporting Bracket 1
E ® Lock Washer 3 E ® Lock Washer 3
» »
> @ 4” Fiber Board (1) 1 [ @ 4" Fiber Board (1)
S 4” Fiber Board (2) 1 3 4” Fiber Board (2) C*;?f;se
® 4" Fiber Board (3) 1 ® 4” Fiber Board (3)
() Fixing Knob 7 @© Fixing Knob 7
@ Bolt 7 () Bolt 7
Exit Kit for 10" Tray Cod: FR-T413-FO Exit Kit for 12" Tray Cod: FR-T413-FO
Item P/N Part Quantity Item P/N Part Quantity
@ 10" Straight Section N/A @ 12" Straight Section N/A
@ 4" Quick Exit 1 (@) 4" Quick Exit 1
® 4" Quick Exit Cover 1 ® 4" Quick Exit Cover 1
E 0) 4” Quick Exit End Cover 1 o @ 4” Quick Exit End Cover 1
é ® 10" Supporting Bracket 1 a ® 12” Supporting Bracket 1
. ol
§ ® Lock Washer 3 'g ® Lock Washer 3
3 @ 4” Fiber Board (1) 5 @ 4” Fiber Board (1)
o Ch, T ch
4° Fiber Board (2) e 4° Fiber Board (2) e
® 4” Fiber Board (3) ® 4” Fiber Board (3)
® Fixing Knob 7 ® Fixing Knob 7
(D) Bolt 7 () Bolt 7

AYSER

www.fayser.com.ar - (+54 11) 6091-6186




4"

NYDER

Optical Cable Tray Exit Drop Options

INNOVACION Y TECNOLOGIA

4" Quick Exit with Trumpet Flare Drop 1

Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.

(O] ;
| 4
‘ ~
—— 5
4
‘ 3
304.4(12") .
[
|
f
106.4(4.2"
254.4(10")
M M n M M n
Exit Kit for 4 Tr'ay Cod: FR-T41344-FO Exit Kit for 6 Tray Cod: FR-T41314-FO
Item P/N Part Quantity Item P/N Part Quantity
@ 4” Straight Section N/A @ 6" Straight Section N/A
@) 4" Quick Exit 1 @ 4” Quick Exit 1
® 4" Quick Exit Cover 1 ® 4" Quick Exit Cover 1
" @ 47 to 4" Exit Cover 1 - ® 4” Quick Exit End Cover 1
2 . X o
i- ® 4" Supporting Bracket 1 ﬁ ® 6" Supporting Bracket 1
~
3 ® Lock Washer 3 E ® Splat 3
g @ 4" Trumpet Flare 1 2 @ 4 Trumpet Flare 1
0 »
3 4” Pull Rod 1 5 4" Pull Rod 1
® Fixing Knob 7 ® Fixing Knob 7
Bolt Bolt
© I 7 I 7
. M n . . n
Exit Kit for 10 Tray Cod: FR-T41324-FO Exit Kit for 12 Tray Cod: FR-T41334-FO
Item P/N Part Quantity Item P/N Part Quantity
[©) 10" Straight Section N/A (@) 12" Straight Section N/A
(@) 4" Quick Exit 1 (@) 4" Quick Exit 1
® 4 Quick Exit Cover 1 ® 4" Quick Exit Cover 1
g @ 4” Quick Exit End Cover 1 E @ 4" Quick Exit End Cover 1
3 ® 10" Supporting Bracket 1 ; ® 12" Supporting Bracket 1
- =
b=t ® Splat 3 2 ® Lock Washer 3
§ . 8 .
by @ 4" Trumpet Flare 1 2 @ 4" Trumpet Flare 1
)
4" Pull Rod 1 °© 4” Pull Rod 1
[©) Fixing Knob 7 ® FixingKnob 7
Bolt 7 ® Bolt 7

AYSER

www.fayser.com.ar - (+54 11) 6091-6186

23



INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

NYDER

para Atender sus Necesidades.

Optical Cable Tray Exit Drop Options

[]
4"

4" Quick Exit with Flex Tube Drop 2

24

@ 125,6(4.9")
Q T Ay
= 7
KB | 7
5% ]
5 3 . 5
Bg P/N:T352 __ >
(3E] B P
286,5(11.3") 7 9 o0s 9" il | 1)
-LJ—L nasasn | 1: 2 Holes (35 mm each) | |
ST56A4E) 2: 3 Holes (35 mm each) ~='®
Al Al
3: 1 Holes (80 mm each) #™m.
A
. 1: for 6" Tray O]
F L 2:for 10" Tray
L
! | 3: for 12" Tray
—1ABL 4: for 4" Tray
Exit Kit for 4" Tray Cod: FR-T352-FO Exit Kit for 6" Tray Cod: FR-T352-FO
Item P/N Part Quantity Item P/N Part Quantity
©) 4" Straight Section N/A @ 6" Straight Section N/A
® 4" Quick Exit 1 [©) 4" Quick Exit 1
® 4" Quick Exit Cover 1 ® 4" Quick Exit Cover 1
" @ 4" to 4" Exit Cover 1 o @ 6" to 4" Exit Cover 1
o
: ® Lock Washer 3 i ®
~
; ® 4" Fiber Board (1) 1 a ® Lock Washer 3
&
IRY) 4 Fiber Board (2) 1 o 4 Fiber Board (1)
o
° 4 Fiber Board (3) 1 4 Fiber Board (2) Choose
©] Fixing Knob 5 ® 4" Fiber Board (3)
Bolt 5 Fixing Knob 5
() Bolt 5
Exit Kit for 10" Tray Cod: FR-T352-FO Exit Kit for 12" Tray Cod: FR-T352-FO
Item P/N Part Quantity Item P/N Part Quantity
@ 10" Straight Section N/A @ 12” Straight Section N/A
(@) 4" Quick Exit 1 (@) 4" Quick Exit 1
[©) 4" Quick Exit Cover 1 [©) 4" Quick Exit Cover 1
I @ o @
2l 10
7 ?
a3 ® Lock Washer 3 3 ® Lock Washer 3
& &
» @ 4” Fiber Board (1) 5 @ 4” Fiber Board (1)
o P Choose P Choose
4” Fiber Board (2) one 4” Fiber Board (2) one
® 4” Fiber Board (3) ® 4 Fiber Board (3)
Fixing Knob 5 [(0) Fixing Knob 5
() Bolt 5 @ Bolt 5

AYSER

www.fayser.com.ar - (+54 11) 6091-6186




INNOVACION Y TECNOLOGIA

Ay ER Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

. Optical Cable Tray Exit Drop Options

4"

4" Quick Exit with Trumpet Flare Drop 2

® 5,6(4.9")

171,8(6.8")
185,8(7.3")
211(8.3")

286,5(11.3")

14,3(4.5")
375,6(14.8")
] ¥ i
1
104,8(4.1"
M M n M M n
Exit Kit for 4 Tray Cod: FR-T35244-FO Exit Kit for 6 Tray Cod: FR-T35214-FO
Item P/N Part Quantity Item P/N Part Quantity
@ 4” Straight Section N/A @ 6” Straight Section N/A
4" Quick Exit 1 4" Quick Exit
1
® 4” Quick Exit Cover 1 ® 4" Quick Exit Cover 1
a @ 4 "to4” Exit Cover 1 o @ 6 “to4” Exit Cover 1
o
~:' ® Lock Washer 3 ': ®
=
; ® 4” Trumpet Flare 1 ';! ® Lock Washer 3
bl
4 @ 4" Pull Rod 1 N8 @ 4" Trumpet Flare 1
S »
3 Fixing Knob 5 3 4" Pull Rod 1
©)] Bolt 5 ©) Fixing Knob 5
@© Bolt 5
. . n . . n
Exit Kit for 10 Tray Cod: FR-T35224-FO Exit Kit for 12 Tray Cod: FR-T35234-FO
Item P/N Part Quantity Item P/N Part Quantity
[©) 10” Straight Section N/A [©) 12” Straight Section N/A
4" Quick Exit 4 Quick Exit
1 1
® 4” Quick Exit Cover 1 ® 4" Quick Exit Cover 1
(o]
g | @ g | @
S ® E ®
4 ;
ﬁ ® Lock Washer 3 E ® Lock Washer 3
N N
i @ 4" Trumpet Flare 1 E @ 4” Trumpet Flare 1
[o]
4” Pull Rod 1 ° 4” Pull Rod 1
® Fixing Knob 5 ©) FixingKnob 5
® Bolt 5 Bolt 5

//'YJER www.fayser.com.ar - (+54 11) 6091-6186



INNOVACION Y TECNOLOGIA

Ay ER Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

' Optical Cable Tray Exit Drop Opti

4" Fixed Exit with Flex Tube Drop (required to remove sidewall)

00
N P, Y
) |
| S |- I.
< g
- Cod: FR-T228-FO -
- ="®
@)
"""""" “ines

1: 2 Holes (35 mm each) r
2: 3 Holes (35 mm each) ~~=®
3: 1 Holes (80 mm each) .

A

< PE_I’* - 1: for 6" Tray g
¥ ey L 2:for 10" Tray

3: for 12" Tray

205(8.17)
273.8(10.8")

Exit Kit for 6" Tray Cod: FR-T228-FO Exit Kit for 10" Tray Cod: FR-T228-FO Exit Kit for 12" Tray Cod: FR-T228-FO

Item| P/N Part Quantity Item| P/N Part Quantity Item| P/N Part Quantity
@ 6" Straight Section N/A @ 10" Straight Section N/A @ 12” Straight Section N/A
(@) 6" Straight Section Cover N/A @ 10" Straight Section Cover N/A [©) 12 Straight Section Cover N/A
® 4" Fixed Exit 1 ® 4" Fixed Exit 1 [©) 4" Fixed Exit 1
@ 4" Tray Fiber Runner 1 @ 4" Tray Fiber Runner 1 @ 4" Tray Fiber Runner 1

E ® 4" Fixed Exit Cover 1 E ® 4" Fixed Exit Cover 1 E ® 4" Fixed Exit Cover 1

z ® Hinge 2 ? @ lock washer 3 % @ lock washer 3

E @ lock washer 3 E 4" Fiber Board (1) E 4” Fiber Board (1)

E 4 Fiber Board (1) °'3° ® 4° Fiber Board (2) C':J‘::e g ® 4" Fiber Board (2) C':)‘;":e
® 4” Fiber Board (2) C':)‘fe ® 4” Fiber Board (3) 4” Fiber Board (3)
4” Fiber Board (3) (@) Fixing Knob 5 (@) Fixing Knob 5
@ Fixing Knob 5 ® Bolt 5 () Bolt 5
® Bolt 5

4" Fixed Express Exit With Trumpet Flare
@ 0 ® @®®

1275)
15(4.5

Exit Kit for 6" Tray Cod: FR-T22814-FO Exit Kit for 10" Traym; FR-T22824-FO Exit Kit for 12" Tray Cod: FR-T22834-FO

Item| P/N Part Quantity Item P/N Part Quantity Item P/N Part Quantity
@ 4" Pull Rod 1 @ 4" Pull Rod 1 ©) 4” Pull Rod 1
@ Fixing Knob 5 @ Fixing Knob 5 @ Fixing Knob 5
® Bolt 5 ® Bolt 5 ® Bolt 5
E @ 4" Fixed Exit 1 o @ 4” Fixed Exit 1 E @ 4" Fixed Exit 1
3 ® 4" Tray Fiber Runner 1 ; ® 4" Tray Fiber Runner 1 % ® 4" Tray Fiber Runner 1
E ® 4" Fixed Exit Cover 1 E ® 4" Fixed Exit Cover 1 g ® 4" Fixed Exit Cover 1
l‘o @ Hinge 1 § @) Hinge 1 § @ Hinge 1
S Trumpet Flare 1 .8 Trumpet Flare 1 3 Trumpet Flare 1
O] Lock Washer 3 ©) Lock Washer 3 ® Lock Washer 3
@® 6" Straight Section N/A ® 10 Straight Section N/A @® 12" Straight Section N/A
@ 6 Straight Section Cover N/A @ 10" Straight Section Cover | N/A @ 12" Straight Section Cover | N/A




INNOVACION Y TECNOLOGIA

Ay ER Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

Optical Cable Tray Exit Drop Options

Downspout with Flex Tube

o)} 06

Ay,
1 e S

172.1(6.77)

i
il

08.4(4.3") ®
280.4(117)

1: 2 Holes (35 mm each) |

20 ol |
2:3 Holes (35 mm each)  +» = @

3: 1 Holes (80 mm each),;‘.q__

@——-"1

L
A~

DOWHSpOUt for 6" Tray Cod: FR-T308-FO

Item P/N Part Quantity
@ 6" Downspout 1
(@) 6" Fiber Spliting Excess/Exit tray Front Cover 1
®
o @) Fixing Knob 3
o
2’ ® Bolt 3
E ® Lock Washer 3
E @ 4" Fiber Board (1)
°© 4" Fiber Board (2) C’;‘:“’:E
©) 4” Fiber Board (3)
Downspout with Trumpet Flare
0l6)]
i 4
\ e |
; T -1
-
i | |
| i e
108.4(4.3" e :
280.4(117") L ' U
L]
-
ISSEs L=
Downspout for 6" Tray  coa e 1308470
Item P/N Part Quantity
@ 6" Downspout 1
@ 6" downspout front cover 1
®
@ Fixing Knob 3
g ® Bolt 3
.; ® Lock Washer 1
o
§ @ 4” pull Rod 1
E 4" Trumpet Flare 1

27



INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.

. Optical Cable Tray Exit Drop Options

Downspout with Flex Tube

@ AT

il
|
|

197(7.7")

28

i y
159(6.3") |
323(12.7") =
5] ‘ =) RS
10" : T508 _ :
‘ 12" :T412 | |
¢ O]
1: 2 Holes (35 mm each)
2: 3 Holes (35 mm each)
3: 1 Holes (80 mm each)
Downspout for 10" Tray  cos remsos-o Downspout for 12" Tray cod rrraro
Item P/N Part Quantity Item P/N Part Quantity
@) 10" Downspout 1 @ 12 Downspout 1
® 12" Downspout Front Cover 1 (@) 12" Downspout Front Cover 1
® 10” Straight Section Cover 1 ® 12” Straight Section Cover 1
® Fixing Knob 4 @ FixingKnob 4
g ® Bolt 4 2 | ® Bolt 4
& o
.; ® Lock Washer 4 3 ® Lock Washer 4
g @ 12” Fiber Board (1) g @ 12" Fiber Board (1)
: - Choose » = Choose
3 12” Fiber Board (2) one 3 12” Fiber Board (2) one
® 12” Fiber Board (3) ©® 12” Fiber Board (3)
Downspout with Trumpet Flare
o
159(6.3") ~@
331(13")
n n
Downspout for 10" Tray  cos tr1sos2s o Downspout for 12" Tray cos trsn2aso
Item P/N Part Quantity Item P/N Part Quantity
[©) 10" Downspout 1 @ 12" Downspout 1
@) 12" Downspout Front Cover 1 @ 12" Downspout Front Cover 1
® 10” Straight Section Cover 1 ® 12” Straight Section Cover 1
) Fixing Knob 4 @ Fixing Knob 4
g ® Bolt 4 2 ® Bolt 4
E ® Lock Washer 4 3 ® Lock Washer 4
-
§ @ 6" Trumpet flare 1 5 @ 6" Trumpet flare 1
b
'3 6" Pull rod 1 g 6" Pull rod 1

*Cod: FR-T50824-FO in previous version

AYSER

www.fayser.com.ar - (+54 11) 6091-6186




INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

[ | Optical Cable Tray Supporting System

Anchor Support

®
o— @
& = o
o® /ﬂ]\
7N\
ol
P @1 ®
N—
Installation Parts
Item P/N Part Quantity
©) 4" C-Bracket 1
@ Threaded Rod
Ejector Sleeve
4" Supporting Bracket

Cod: FR-T2170-FO

M10 Screw Nut Kits

M10 Cap Nut

Fixing Knob

Bolt

M8 Expansion Screw

6"
Cod: FR-T3300-FO

6 C-Bracket

Threaded Rod

Ejector Sleeve

Supporting Bracket

M10 Screw Nut Kits

M10 Cap Nut

Fixing Knob

Bolt

M8 Expansion Screw

10"

Cod: FR-T5540-FO
(FR-T540-FQO in previous version)

10” C-Bracket

Threaded Rod

Ejector Sleeve

Supporting Bracket

M10 Screw Nut Kits

M10 Cap Nut

Fixing Knob

Bolt

M8 Expansion Screw

12"

Cod: FR-T4350-FO

12” C-Bracket

Threaded Rod

Ejector Sleeve

Supporting Bracket

M10 Screw Nut Kits

M10 Cap Nut

Fixing Knob

Bolt

CACSCNGCHCICH OSSO CHCIIO NG HCHCHCHCHCONCHCHSNONGHCHC)

M8 Expansion Screw

Niww( Rk lulkRlkriRrRNw R OR R RPN R O R R R RN N R O R R e

* Recommended Threaded Rod Diameter is 10mm and length is upon request.

Please state the required length on the PO.

Installation /
Supporting Systems

Anchor Support

Trapeze Support

Top of Rack/Cabinet Support
Auxiliary Framing support

Side Bracing Support

29



30

INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos

para Atender sus Necesidades.

Trapeze Support

Installation Parts

Item P/N Part Quantity Item P/N Part Quantity
@ 4" Trapeze bracket 1 @ 6" Trapeze bracket 1
@ Threaded Rod 2 @ Threaded Rod 2
® Ejector Sleeve 2 ® Ejector Sleeve 2
4" @ Supporting Bracket 2 6" O] Supporting Bracket 2
Cod: FR-T225-FO ® M10 Screw Nut Kits 10 Cod: FR-T338-FO ® M10 Screw Nut Kits 10
® Fixing Knob 2 ® Fixing Knob 2
@ Bolt 2 @ Bolt 2
M8 Expansion Screw 4 M8 Expansion Screw 4
@ 10" Trapeze bracket 1 @ 12" Trapeze bracket 1
@ Threaded Rod 2 @ Threaded Rod 2
® Ejector Sleeve 2 ©) Ejector Sleeve 2
10" @ Supporting Bracket 2 12" ) Supporting Bracket 2
Cod: FR-T551-FO ® M10 Screw Nut Kits 10 Cod: FR-T440-FO ® M10 Screw Nut Kits 10
® Fixing Knob 3 ® Fixing Knob 3
@ Bolt 3 @ Bolt 3
M8 Expansion Screw 4 M8 Expansion Screw 4
Top of Rack/Cabinet Support
Installation Parts
Item P/N Part Quantity Item P/N Part Quantity
[©) Threaded Rod 1 @ Threaded Rod 1
@ M16 Screw Nut Kits 2 @ M16 Screw Nut Kits 2
4" ©) 4" Center Support Bracket 1 6 ® 6" Center Support Bracket 1
Cod:FR-T226-F0 | () Fixing Knob 2 Cod: FR-T339-FO [0) Fixing Knob 2
® Bolt 2 ® Bolt 2
[©) Threaded Rod 1 [©) Threaded Rod 1
@ M16 Screw Nut Kits 2 @) M16 Screw Nut Kits 2
10 ® 10" Center Support Bracket 1 12 ©) 12" Center Support Bracket 1
CociRSSZEC @ Fixing Knob 3 Cod RRTESTEED @ Fixing Knob 3
® Bolt 3 ® Bolt 3

* Recommended Threaded Rod Diameter is 10mm and length is upon request.

Please state the required length on the PO.




INNOVACION Y TECNOLOGIA

Contamos con la Experiencia y los Recursos
para Atender sus Necesidades.

[ | Optical Cable Tray Supporting Syste

Auxiliary Framing support

o
Installation Parts
Item P/N Part Quantity Item P/N Part Quantity
@ Ladder Rack Bracket 2 @ Ladder Rack Bracket 2
@ Threaded rod 1 @ Threaded rod 1
- ® ML6 Screw Nut Kits 4 - ® M16 Screw Nut Kits 4
@ M16 Cap Nut 1 @ M16 Cap Nut 1
Cod: FR-T227-FO : FR-T345-F
© ® 4" Supporting Bracket(2) 1 Cod 345-Fo ® 6" Supporting Bracket(2) 1
@ Fixing Knob 2 @ Fixing Knob 2
@ Bolt 2 @ Bolt 2
@ Ladder Rack Bracket 2 @ Ladder Rack Bracket 2
@ Threaded rod 1 @ Threaded rod 1
® M16 Screw Nut Kits 4 ® M16 Screw Nut Kits 4
10" @ M16 Cap Nut 1 12" (©) M16 Cap Nut 1
Cod: FR-T550-FO ® 10" Supporting Bracket(2) 1 EXB AR ® 12" Supporting Bracket(2) 1
® Fixing Knob 3 ® Fixing Knob 2
@ Bolt 3 @ Bolt 2
Wall Support
° @3
o
Installation Parts
Item P/N Part Quantity Item P/N Part Quantity
a @ 4" Side support bracket 1 6" @ 6" Side support bracket 1
ixi 2 ixi 2
Cod: FR-T2240-FO @ Fixing Knob Cod: FR-T3370-FO @ Fixing Knob
® Bolt 2 ® Bolt 2
[©) 10" Side Support Bracket 1 12 [©) 12" Side Support Bracket 1
10" "
Fixing Knob 3 ixi
Cod: FR-T5530-FO @ iy e Cod: FR-T4420-FO ® fiinolkios 3
©) Bolt 3 ® Bolt 3

* Recommended Threaded Rod Diameter is 10mm and length is upon request.

Please state the required length on the PO.

31



	Página 1
	Página 2
	Página 3
	Página 4
	Página 5
	Página 6
	Página 7
	Página 8
	Página 9
	Página 10
	Página 11
	Página 12
	Página 13
	Página 14
	Página 15
	Página 16
	Página 17
	Página 18
	Página 19
	Página 20
	Página 21
	Página 22
	Página 23
	Página 24
	Página 25
	Página 26
	Página 27
	Página 28
	Página 29
	Página 30
	Página 31

